TT18-4G-M MQTT PpiX v1.2
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1. RLFECHR A

B3 i «

{
"msgtype":, //ZRAL,  FHF HIWAS F 2
"hw":"0407”",// AR5
"fw": /" A RRCA (R 2 0.0.0.0)",
"imei": “,//"ME—FRriR (BN IMEIL SN. ID) ",
"data":"",//" B HE X",
"rtc": 2021/09/09 03:42:04 ,//4F F H i 73 #5
"sn: J/BARTF YIS, -1 REAT
}

JIke 55 5 i <

{
"sta": 0, /RS S, 0 NIEH. 1 MR
"data":"”,// "R [E HHE X
“error": “’// U R EE R, W LLIR RIS IR RSN
"errorcode":""/ /5t iR bl

}

2. BREUIR S A5 1H)



"msgtype": 1,

"hw":”0407”/ /"It FL 5",

"fw": /"R (B8 2% 0.0.0.0)",

"imei": //"ME—HRIR (BN IMEI. SN. ID) ",

sn'":
}
i
{

"sta": 0,

"data": {

"servertime": 2021/09/09 03:42:04
2

"error": "",

"errorcode":""/ /45 1R AL

ZNiIR
1H2K: {"msgtype":1,"hw":"0407","fw":"02.00.00.00","imei":"699999999999999","sn": 1}

AR {"sta":0,"data":{"servertime": "2021/09/10 10:06:53"},"error":"" "errorcode”:"”}

3. ARHEEE X

K

{

"msgtype": 3,

"hw"0407",/ /"B 5,

“fw": /)" A (B X 0.0.0.0)",

"imei": “”,//"ME—FxIL CRIA IMELL SN, ID) ",
"data": {

“gps”:["latitude":22.537818,//4: [
"longitude ":114.537818,//4 [
"angle":120,//ff &
"speed":12.3,//i %, Hf7: Knots
“utc”:2023/02/21 17:11:56//utc It} [H]
1,

“Ibs”:[

{"mcc": “460”, //7% 51 [H 5 i it
"mnc": “01”, //# ) N £& G i



"lac": "2793 ", //IX $ g b5
"cell": "12AD", //FE3k G it
“rxlev”:-68,//¥.A47: -dBm,f¥ 2G FE ik S RF
"type": "2G" //FEui A, 2G. NB. CATM. LTE
2
{"mcc": “460”, /1% 20 [F Z g i
"mnc": “01”, //#% 5l 4% 2 i
"lac": "1D2F ", //[X {5 g it
"cell": "OA7E743F", /3L vk 4ifiY
“pci”:272,// Physical Cell ID,10 #tfil], NB. CATM. LTE S FF
“earfcn”:3686,// 10 1], NB. CATM. LTE S #F
“rsrp”:-75,// Current reference signal received power in,".f7: -dBm, NB. CATM-
LTE £
“rsrq”:-8,// The signal reception quality, #./7.: -dB, NB. CATM. LTE 3Z#¥
“rssi”:-8,// Received signal strength indicator value,*f-fii: -dBm, NB. CATM. LTE
XFF
“"type": "LTE " //FEuh28Y, 2G. NB. CATM. LTE
2
{"mcc": “460”, /1% 2 [F Z g i
"mnc": “01”, // %% ) 4% 2 i
"lac": "2793 ", //IX f g i
"cell": "12AE", //FE vk 4 Y
“rxlev”:-68,// %L : -dBm, X 2G Jkfi L KF
"type": "2G " //FEuE2EA, 2G. NB. CATM. LTE
}
1
"alert":"AA”,//HRE KT, AA-TIUEGE, 10-REIRE, AC-IRIBEIRE, AL-IRIBSE R,
[/A2- 51 AR A A
"termsta":"00”,// %5 5, bite- CATEIAARE, bit5-LSE W FRE, bitd-1Z8EARE,
//bit3-T5 1 T bR, bit2-iRE SRR E, bitl-RIERRE,
//bit0-usb EH R &
"gsm": {
"csq": 40, /15 5 HRIE
"sta": "37",//bit5-http EFE TS L, bitd-gprs L ETT ok, bit3-/& IR
//bit2-gsm ML LTS ok, bitl-sim K&GKME], bito-/& 75 HFHL
2
" bat": 3.6, //Hh L
"temp": 33.6, //IJE, A7 0.1c
"humi": 58.9, /IS, HAL: 0.1%
"light": 0 //JCRCIRAS, 0-57%, 1-HE
2
"rtc": "2021/09/09 03:42:04",
"sn": 1

}



] N ¢

{

"sta": 0,

“data”{
“ack”:1//MCEIH sn, BEIUECHE 6 AT S WL R AT sn —2
2

"error": "",
"errorcode":""//4 1% i

}

K
{"msgtype":3,"hw":"0407","fw":"03.03.00.00","imei":"699999999999911","data":{"Ibs":[{"mcc":"
460","mnc":"00","lac":"1D2F","cell":"A7E743F","pci":272,"earfcn":3686,"rsrp":-73,"rsrq":-11,"rss
i":-62,"type":"NB"}],"alert":"AA","termsta":"10","gsm":{"csq":26,"sta":"37"},"bat":4.00,"temp":2
1.7,"humi":49.8,"light":0},"rtc":"2023/02/21 10:02:45","sn":3}
M

nomy

{"sta":0,"data”{“ack”,3}, "error":"",”errorcode”:

K
{"msgtype":3,"hw":"0407","fw":"03.03.00.00","imei":"699999999999911","data":{"Ibs":[{"mcc":"
460","mnc":"00","lac":"2793","cell":"12CD","rxlev":-71,"type":"2G"},{"mcc":"460","mnc":"00","
ac":"2793","cell":"12AF","rxlev":-71,"type":"2G"},{"mcc":"460","mnc":"00","lac":"2793","cell":"1
2CC","rxlev":-73,"type":"2G"}],"alert":"AA","termsta":"10","gsm":{"csq":12,"sta":"37"},"bat":4.00,
"temp":22.2,"humi":49.9,"light":1},"rtc":"2023/02/21 10:08:18","sn":10}

M 3

{"sta":0,”data”{“ack”,10}, "error":"",”errorcode”:”"}

K
{"msgtype":3,"hw":"0407","fw":"03.03.00.00","imei":"699999999999911","data":{"gps":["latitud
e":22.538564,"longitude":114.069624,"angle":0,"speed":0.0,"utc":2023/02/21
10:15:55],"Ibs":[{"mcc":"460","mnc":"00","lac":"2793","cell":"12CD","rxlev":-69,"type":"2G"},{"
mcc":"460","mnc":"00","lac":"2793","cell":"12AF","rxlev":-67,"type":"2G"},{"'mcc":"460","mnc":"
00","lac":"2793","cell":"OEF8","rxlev":-70,"type":"2G"}],"alert":"AA","termsta":"10","gsm":{"csq":
31,"sta":"37"},"bat":2.67,"temp":9.6,"humi":25.6,"light":0},"rtc":"2023/02/21 10:16:01","sn":2}

M 3

{"sta":0,"data”{“ack”,2}, "error":"",”errorcode”:""}

15K
{"msgtype":3,"hw":"0407","fw":"03.03.00.00","imei":"699999999999911","data":{"gps":["latitud
e":22.538564,"longitude":114.069624,"angle":0,"speed":0.0,"utc":2023/02/21
10:18:21],"lbs":[{"mcc":"460","mnc":"00","lac":"1D2F","cell":"A7E743F","pci":272,"earfcn":3686,
"rsrp":-72,"rsrq":-11,"rssi":-61,"type":"NB"}],"alert":"AA","termsta":"00","gsm":{"csq":27,"sta":"3
7"},"bat":2.66,"temp":11.6,"humi":25.7,"light":0},"rtc":"2023/02/21 10:18:22","sn":4}

M



{"sta":0,”data”{“ack”,4}, "error":"" "errorcode”:""}

4. FATHG A S SRR S 2T F AT AR 4 T B o E T AT 4

AR5 28 FATA%
{
"sta": 0, //IREmS, 0 NIEW. 1 NiEiR
"data": {
"downcmd": ""//#§4>, 41*000000,008,0000001#
3
“error": “’//" UL, BT LLIR IR ELN"
"errorcode":""//f5 1R
}
WL FAT46 4 5 Rl 2 4% X
{
"msgtype": 4, //ZRY, WA [F) £
"hw":”0407”,//" T4 B 5,
"fw" /M EE AR (3% X 0.0.0.0)",
"imei": “” J/"ME—#FRIR (RIS IMEL. SN, ID) ",
"data": {
"resdowncmd": {
"emd":"",// F ) FE 4, 11*000000,008,00000014#
"cmdtype":"", //AE A KA, set NI EIEL, read MiLHUIES
"sta":"",//fE A PAT EE R
"par:""// L HL AR A 4

b
"rtc": "2021/09/09 03:42:04",
"sn": 1

}

/—j_‘_\‘@lj:

‘F//Tj‘:

{"sta":0,"data":{"downcmd":"*000000,008,1110000#"},"error":"" "errorcode”:"”}

EIF=F
{"msgtype":4,"hw":"0407","fw":"02.00.00.00","imei":"699999999999999","data":{"resdowncmd
":{"cmd":"*000000,008,1110000#","cmdtype":"set","sta":"OK"}},"rtc":"2021/09/1403:26:10","sn
":5}

AT
{"sta":0,"data":{"downcmd":"*000001,008,1110000#"},"error":"" "errorcode”:""}
EIF=§



{"msgtype":4,"hw":"0407","fw":"02.00.00.00","imei":"699999999999999","data":{"resdowncmd
":{"cmd":"*000001,008,1110000#","cmdtype":"set","sta":"Err"}},"rtc":"2021/09/14
03:31:10","sn":7}

‘F//Tf:

{"sta":0,"data":{"downcmd":"*000000,040,008#"},"error":"","errorcode”:""}

EIF=F
{"msgtype":4,"hw":"0407","fw":"02.00.00.00","imei":"699999999999999","data":{"resdowncmd
":{"cmd":"*000000,040,008#","cmdtype":"read","sta":"OK","par":"1110000"}},"rtc":"2021/09/14
03:40:29","sn":11}

‘F//Ti;:

{"sta":0,"data":{"downcmd":"*000000,040,088#"},"error":"","errorcode”:""}

EIF=F
{"msgtype":4,"hw":"0407","fw":"02.00.00.00","imei":"699999999999999","data":{"resdowncmd
"{"emd":"*000000,040,088#","cmdtype":"read","sta":"unvalid"}},"rtc":"2021/09/14
03:52:58","sn":3}
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